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S.Y. B.Com. Examination, 2010
AGRICULTURAL AND INDUSTRIAL ECONOMICS-I

(Special Paper)
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
I1) Figures to the right indicate full marks.

1. Answer the following questionsin 20 words each (any ten) : 20
1) DefineAgricultural Economics.
2) Define Farm Management.
3) WhatisRisk inAgriculture?
4) What aretheinputsinAgricultural sector ?
5) What do you mean by Farm Firm ?
6) State two advantages of Large Size Farm.
7) Definelndustrial Economics.
8) What isIndustry ?
9) What isFirm?
10) What isPlant ?
11) What isIndustrial Monopoly ?
12) WhatisIndustrial efficiency ?
13) What isoptimum Firm ?
2. Answer the following questions in 50 words each (any two) : 10
1) State the scope of Agricultural Economics.
2) State the factors affecting supply of agricultural product.
3) Statethereasonsfor survival of small Firm.

4) State the causes of Industrial Monopoly.
P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Explainthe factorsaffecting demand for Agricultural Product.
2) Explain the causes of Fluctuationsin prices of Agricultural Product.
3) Explainthefactorsaffecting Industrial location.
4) Explainthetypesof Industrial combination.

4. Answer the following questions in 300 words each (any two) : 30
1) Explainthe meritsand demeritsof small sizefarm.
2) Suggest the measuresto control risk and uncertainty in Agriculture.
3) Explain the Weber’s Theory of Industrial location.
4) Explainthefactorsaffecting optimum size of Firm.
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S.Y. B.Com. Examination, 2010
TAX PROCEDURE AND PRACTICES-III
(Vocational Paper) Income Tax
(Old 2004 Pattern)

Time: 2Hours Max. Marks: 60

Instructions. 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer each in 20 words (any seven) : 14

1) Enumerate theincomesincluded in salary for computation of H.R.A.
exemption.

2) Enumerate maximum amount whichisnot chargeabletotax for A.Y. 2010-2011
for anindividuals.

3) What ismeant by ‘ Assessment Year’ ?
4) What ismeant by ‘Firm’ ?
5) What are the types of residential status ?
6) What arethe deductions available U/S 24 ?
7) What ismeant by long-term capital gain ?
8) What is meant by ‘Block of Assets' ?
9) What isdeduction available U/S80 U ?
10) Enumerate books of accounts under Rule 6 F(2).

2. Answer each in 50 words (any two) : 8

1) What is meant by allowances ? Discuss exempted allowances under income
fromsalary.

2) Discuss provisions for ‘Depreciations'.
3) Enumerateimportance of ‘PAN’.

4) What is meant by ‘ Scrutiny assessment’ ?

P.T.O.
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S.Y. B.Com. Examination, 2010
CORPORATE ACCOUNTING
(Old) (2004 Pattern)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
I1) Figuresto the right indicate full marks.
i) Use of calculator is allowed.

1. A) Fill inthe blanks (any five) : 5

I) If the shareholder is not interested in receiving the share certificate in its
physical form, his shares are credited to his alc.

1)) shares are issued when the profits are capitalised.

i) Profit prior to incorporation is transferred to alc.

Iv) AS-4 deals with

V) of company leads to termination of legal existence
of company.

vi) Billsreceivablediscounted but not maturedisa liability.

vii) Formation of a new company to take over the existing business of two or
more companies is known as

B) State whether the following statements aretrueor false (any five) : 5
1) Subscribed share capital is that part of called up share capital which is
actually paid by the shareholders.
i) Sinking fund tables are used to calculate the amount of investments for
redemption of debentures.
lii) Sharetransfer feesis transferred to pre-incorporation period.
Iv) AS-13 accounting for investments does not deal with investments of mutual
fund or banks.
V) Reorganisation of share capital of the company without formation of a
new company is known as external reconstruction.
vi) Holding company purchases less than 50% of share capital of subsidiary
company.
vii) Premium on redeemable preference shares is to be set aside from profits
of the company or from share premium a/c.

P.T.O.
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Debit Balances
Stock on 1-4-2009
Freehold land

Plant and Machinery
S. Debtors
Preliminary expenses
Salaries

Wages

Bad Debts

Interest on debentures
Insurance

Power

General expenses
Postage

Repairs

Travelling expenses
Purchases

Directors fees
Cashin hand

Investments
(Fixed Deposit)

Building
Goodwill
Loose Tools

2- AR ATE NN A A

Trial Balance

Rs.
1,50,000
2,00,000
2,50,000
1,20,000

15,000
50,000
1,20,000
3,000
5,000
17,000
25,000
15,000
1,000
4,000
2,000
4,07,000
20,000
16,000

2,50,000
4,00,000
2,00,000

41,000

Sinking Fund Investment 1,00,000

24,11,000

2. Following wasthetrial balance of Dipak ElectronicsLtd. ason 31 March 2010 :

Credit Balances Rs.
5% Debentures 2,00,000
Sinking Fund 1,00,000
General reserve 40,000
Creditors 1,50,000
Profit and Loss A/c (1-4-2009) 54,000
Sales 8,90,000
BillsPayable 49,000
Share Capita

74,000 equity

shares of Rs. 10 each 7,40,000
Sundry receipts 8,000
Interest on investment 25,000
Bank Over Draft on

hypothecation of Plant

and Machinery 1,55,000

24,11,000
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Prepare Trading and Profit and Loss A/c, and Profit and Loss Appropriation A/c
for the year ended 31t March 2010 and Balance Sheet as on that date after
considering thefollowing adjustments:

1) Theauthorised capital of the company is 250000 Equity sharesof Rs. 10 each
out of which 76000 shares were issued to the public.

2) Write off onethird of the preliminary expenses.
3) Stock on 31% March 2010 was Rs. 3,00,000.

4) Salaries were outstanding to the extent of Rs. 4,500 and prepaid insurance
amounted to Rs. 3,500.

5) Provide 5% on debtors for doubtful debts.
6) Provide Rs. 15,000 for taxation.
7) Makethefollowing appropriations:
a Rs. 15,000 to General Reserve
b) Directors declared 20% dividend on share capital.

8) Depreciate Plant and Machinery at 10%.

9) Interest on debenturesis due for six months. 20
OR

2. A) Following was the Balance Sheet of Suyash Ltd. ason 313t March 2009 :

Balance Sheet
Liabilities Rs. Assets Rs.
Share capital Goodwill 1,12,000
1000, 8% preference Land and Building 2,18,000
shares of Rs. 100 Plant and Machinery 90,000
each, fully paid 1,00,000 Furniture 10,000
2,000 equity shares Office Equipments 20,000
of Rs. 100 each Stock 99,000

Rs. 80 paid up 1,60,000 Debtors 85,000
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3000 equity shares Billsreceivables 22,000
of Rs. 100 each, Cashin hand 8,000
Rs. 70 paid up 2,10,000 Profitand LossA/c 70,000

8% Debentures

(having afloating
chargeon all assets)  1,00,000

Debentureinterest 4,000
Creditors 1,60,000
7,34,000 7,34,000

The company went into voluntary liquidation as on that date.

The preference dividend was in arrears for 3 years and as per the Articles of
Association it wasto be returned before returning equity capital.

Sundry creditors include aloan of Rs. 40,000 secured on the hypothecation of
Plant and Machinery and preferential creditors of Rs. 10,000.

Theliquidators realised the assets asfollows:

Land and Building Rs. 2,15,000, Plant and Machinery Rs. 50,000, Office
Equipments Rs. 13,000, Furniture Rs. 8,000, Stock Rs. 70,000, Debtors
Rs. 60,000 and Bills Receivable Rs. 14,000.

Legal chargeson liquidation were Rs. 1,000. The liquidation expenses were
Rs. 2,600.

The liquidation expenses were Rs. 2,600.

The liquidators remuneration was fixed at Rs. 1,000 plus 2% on sale of assets,
plus 4% on the amount distributed to unsecured creditors.

Prepare liquidatorsfinal statement of A/cif the amountswere paid on
30t June 2009. 12

B) Hary Ltd., Pune was incorporated on 15t July 2009 to take over the running
business of firm with effect from 1t April 2009. The accountswere closed on
31t March 2010. From the following information find out the profit available
for distribution and profit prior to incorporation :

a) Turnover for the year was Rs. 8,00,000 and that for the period after
incorporation was Rs. 5,00,000.
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b) Gross Profit for the year was Rs. 1,20,000.

c) Following expenses were debited to Profit and Loss A/c : 8
Particulars Rs.
Rent 5,000
Sdaries 9,000
Directors fees 3,500
Interest on Debentures 3,000
Allowances to Debtors 2,400
Depreciation 18,000
Audit fees 1,200
Advertising 10,000
Commission 6,000
Bad debts (Rs. 300 related to the pre-incorporation period) 1,250

Interest to Vendors on purchase price (upto 31t August 2009) 2,500

3. A) Telegraphic Ltd. wasincorporated with an authorised capital of Rs. 50,00,000
divided into 50000 Equity Shares of Rs. 100 each. The company offered
20000 Equity Sharesto the public at 10% premium and the amount of shares
was payable asfollows :

Onapplication — Rs. 25 per share

Onadlotment — Rs. 40 per share (including premium)
On 1t Call — Rs. 25 per share
OnFinad Cal - Rs. 20 per share.

The company received applicationsfor 30000 Equity shares. The applications
for 5000 shares were rejected and application money was refunded. Pro-rata
allotment was made to the remaining applicants. Excess application money
was adj usted against the amount due on allotment.

All the shareholders paid the allotment, 1% call and final call money except
Mr. Kuna who failed to pay first and final call money on 200 shares. His
shares were forfeited. Forfeited shares were reissued to Mr. Sunil at Rs. 75
per sharefully paid.

Journalise the above transactions in the books of Telegraphic Ltd. 15
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B) Balance Sheets of Mahi Ltd. and Gargi Ltd. ason 318t March 2010 are given

below :
M ahi
Liabilities Ltd.
(Rs)
Equity Share
Capitd
(Shares of

Rs. 100 each)  10,00,000
General Reserve 2,00,000
Profit and Loss A/c 1,90,000
6% Debentures —
Creditors 1,20,000

15,10,000
Additional information :

Gargi
Ltd.
(Rs)

4,00,000

2,00,000
90,000

6,90,000

Mahi  Gargi
Assets Ltd. Ltd.
(Rs) (Rs)
Fixed Assets  7,00,000 3,00,000
Stock 1,80,000 80,000
Debtors 1,20,000 60,000
[nvestments:
1) Debenturesin
Gargi Ltd.
at par 1,20,000 -
2) 3000 shares
in Gargi Ltd.
at cost 2,40,000 —
Cash 1,50,000 50,000
Profit and
Loss Alc — 2,00,000

15,10,000 6,90,000

1) Mahi Ltd. acquired the sharesin Gargi Ltd. on 15t July 2009.
2) TheProfitand LossA/c of Gargi Ltd. showed debit balance of Rs. 3,00,000

on 15t April 2009.

3) Creditors of Gargi Ltd. include Rs. 40,000 for goods supplied by Mahi
Ltd. on which Mahi Ltd. made a profit of Rs. 4,000. Half of the goods
were still in stock on 318t March 2010.

Prepare Consolidated Bal ance Sheet ason 315t March 2010 and give detailed

workings.

15
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4. Following are the Balance Sheets of Uptron Ltd. and Optonica Ltd. as on
31tMarch 2010:

Liabilities Uptron  Optonica Assets Uptron Optonica
Ltd. Rs. Ltd. Rs. Ltd. Rs. Ltd. Rs.
Share capital Goodwill 20,000 —
2000 equity shares Landand Building 80,000 —
of Rs. 100 each 2,00,000 — Machinery 1,00,000 70,000
2000 equity shares Stock 60,000 80,000
of Rs. 100 each Debtors 40,000 36,000
Rs. 50 paid up - 1,00,000 BillsReceivables 10,000 4,000
Reserve Fund 32,000 20,000 Cashinhand 10,000 5,000
Creditors 70,000 50,000 Prediminary
Expenses 12,000 -
BillsPayable 30,000 25,000
3,32,000 1,95,000 3,32,000 1,95,000

Uptron Ltd. and Optonica Ltd. agreed to amalgamate as on above date and a new

company ‘Sharp Ltd.” formed for this purpose :

Sharp Ltd. took assets and liabilities of both the companies on the following terms:

1) Sharp Ltd. did not take over bills payables and cash balance of Uptron Ltd.
The other assets were taken at following valuations.

Land and Building Rs. 1,00,000; Machinery Rs. 70,000; Stock Rs. 50,000;
Debtors less 5% for reserve for doubtful debts, Bills receivables at book
value and creditors at Rs. 68,000.

2) Sharp Ltd. did not take cash, Bills Receivables and creditors of Optonica
Ltd. Other assetsand liabilitiesweretaken at thefollowing valuations:
Machinery Rs. 95,000, Stock Rs. 75,000, Debtors Rs. 33,000 and Bills Payable
at book value.

3) Sharp Ltd. discharged the purchase consideration of Uptron Ltd. asRs. 35,000
in cash and the balance in equity shares of Rs. 100 each at Rs. 110 per share.

4) Sharp Ltd. discharged the purchase consideration of OptonicalLtd. as Rs. 57,000
in cash and the balance in equity shares of Rs. 100 each at Rs. 110 per share.

5) Readlisation expenses of Uptron Ltd. Rs. 4,000 and of OptonicaLtd. Rs. 2,000
were paid by the respective companies.



[3869] — 602 & AR ATE NN A A

6) Uptron Ltd. paid Rs. 29,000 Bills payablesin full settlement of their claims.

7) BillsReceivables of Optonicaltd. realised Rs. 3,500. Prepare Redlisation A/c,
Sharp Ltd. A/c, Equity sharesin Sharp Ltd. A/c, Cash A/c, Equity share

holders A/c in the books of Uptron Ltd. and Optonica Ltd. 20
OR
4. A) Following isthe Balance Sheet of RN Projects Ltd. ason 31% March 2010: 15
Liabilities Rs. Assets Rs.

10% preference shares Goodwill 50,000
of Rs. 100 each 3,00,000 Building 1,50,000
4000 equity shares of Machinery 3,00,000
Rs. 100 each 4,00,000 Patents 20,000
SharepremiumA/c 40,000 Stock 2,80,000
6% Debentures 4,00,000 Cash 10,000
Creditors 60,000 Preliminary expenses 30,000
Profit and Loss A/c 3,60,000
12,00,000 12,00,000

The following reconstruction scheme was approved :

1) The preference shares to be converted into 12% preference shares and their
amount being reduced by 50%.

2) Equity shares were reduced to fully paid shares of Rs. 40 each.
3) Building to be appreciated by 40%.
4) Debentureholders accepted 25% reduction in their claims.

5) Stock to be reduced by 20% and the all intangible assets including patents
areto be written off. Write off machinery by 20% using share premium A/c if
necessary.

Pass journal entries in the books of RN Projects Ltd., and prepare the
Balance Sheet after reconstruction.

B) Write short notes on (any one) : 5
I) Revenuerecognition i) Capital Redemption Reserve.

B/11/10/4,730
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S.Y. B.Com. Examination, 2010
BUSINESS ECONOMICS(Macro)
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Draw neat diagrams wherever necessary.

1. Answer the following questions in 20 words each (any ten) : 20

1) What is Macro Economics ?
2) What is monetary policy ?
3) Definemoney.
4) What isBank Rate ?
5) State Dr. Marshall’s equation regarding the value of money.
6) What isDeflation ?
7) State J.B. Say’s Law of market.
8) What isthe principle of Acceleration ?
9) What is public debt ?

10) What is Philips curve ?

11) What is Budget ?

12) What ispolicy dilemma?

13) Statethe principle of maximum socia advantage.

P.T.O.



[3869] — 603 2- 0 0

2. Answer the following questions in 50 words each (any two) : 10
1) Explainin brief Fisher’s equation of exchange.
2) Explain the scope of macro economics.
3) What arethefactorsinfluencing the marginal efficiency of capital ?
4) What are the types of budget ?
3. Answer the following questions in 150 words each (any two) : 20
1) What ismoney ? Explain the various functions of money.
2) Explain the effects of Taxation.
3) Describe various phases of trade cycle.
4) Explain the constraints upon economic growth.
4. Answer the following questions in 300 words each (any two) : 30

1) What is credit control ? Explain the measures of quantitative and qualitative
credit control adopted by Central Bank in detail.

2) What isInflation ? Explain the causes of inflation in detail ?

3) ExplaintheKeynesian theory of Income and Employment in detail .

4) What is Public Finance ? Explain the nature and scope of public finance.
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S.Y.B.Com. Examination, 2010

[3869] — 606

BUSINESS ADMINISTRATION —I (Special Paper)

Time: 3Hours

(2004 Pattern)
(Old)

N.B.: i) All questions are compulsory.

i) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) :
1) Administration

2) Centralisation

3) Ancillary Industries

4) Political Business Environment

5) Productivity

6) Objectives of Industrial Psychology
7) T.Q.M. (Total Quality Management)
8) Globalisation

9) Effects of Industrial sickness
10) Indirect Tax

11) Government Company

12) Factory Building Layout

13) Scientific management.

Max. Marks: 80

20

P.T.O.
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2. Answer in 50 words each (any two) : 10
1) Explainthe advantages of joint ventures.
2) Causes of Industrial Sickness.
3) Advantages of Computerisation.

4) Write anote on ‘Types of Plant Layout’.

3. Answer in 150 words each (any two) : 20
1) Distinction between Management andAdministration.
2) Write anote on ‘ Government Intervention in business'.
3) Objectivesof quality control.

4) Write adetail note on Business and Pollution control.

4. Answer in 300 words each (any two) : 30
1) Discuss the objectives and types of Industrial Estate.
2) Explaintheimpact of Liberaisation and Globalisation on bus nessenvironment.

3) Define Automation. Explain the principles, advantages and limitations of

Automation.

4) What ispartnership firm ? Explain the features, advantages and disadvantages

of partnership firm.
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S.Y .B.Com. Examination, 2010
COST AND WORKS ACCOUNTING -1
(Special Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: i) All questions are compulsory.
I1) Figuresto the right indicate full marks.
i) Use of calculatorsis allowed.

1. A) Fillintheblanks: (05)
I) Total of direct material cost, direct wages and direct expenses is called
COSt.
1)) Is a statement which shows different components of the
total cost.
i) IS a cost centre which consists of a person or group of
persons.
V) Istherate of changein thelabour force of an organisation.

v) Allotting code numbers or symbolsto different items of materialsisknown
as

B) State whether the following statement aretrueor false: (05)
1) Fixed cost does not change in the same proportion inwhich output change.
i) All costsare controllable.

i) Slow moving materials are those which have a low inventory turnover
ratio.

Iv) Pay Roll department is concerned with disbursing wages and salaries.

v) Taylor’ sdifferential piecerate system does not guarantee minimum wages
to workers.

P.T.O.
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2. What is cost accounting ? In what respects does it differ from financial

accounting ? (15)
OR
Explain briefly thefunctions of the purchasing department in alarge manufacturing
concern. (15)
3. Write short notes on (any three) : (15)
1) ABCanalysis

i) Taylor sdifferential piecerate system
i) Timebooking

Iv) Centralised stores

v) Effects of labour turnover.

4. A) During February, 2008 Thomas Ltd. has produced 5000 pieces of a tractor
component Z. Cost incurred during the month on this output are asfollows: (15)

Particulars Amount
Rs.
Direct materials 1,20,000
Direct labour 1,60,000
Factory rent and rates 30,000
Officerent 20,000
Show room rent 40,000
Power 10,000
Light (office) 5,000
Sundry factory expenses 15,000
Indirect wages 50,000
Advertisements 50,000

Sales commission 25,000
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Officesdaries 60,000
Salessalaries 80,000
Carriage outwards 10,000
Interest on loan 5,000
Delivery van expenses 15,000
Depreciation of plant 25,000
Income tax 10,000
Direct factory expenses 40,000
Crane expenses (Factory) 25,000
Factory supervision 40,000
Depreciation on office equipment 5,000
Saes 10,00,000
Prepare Cost Sheet giving :

I) Prime cost

i) Works cost

i) Cost of production
Iv) Cost of sales and
v) Profit.

B) Caculate: (05)
a) Re-order level
b) Maximumlevel
c) Minimumlevd.
Re-order quantity : 1500 units
Re-order period : 4 to 6 weeks
Maximum consumption : 400 units per week
Normal consumption : 300 units per week
Minimum consumption : 250 units per week.
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5. A) Prepare a stores ledger from the following transactions under the LIFO

unitsat Re. 1.00 per unit
unitsat Rs. 1.05 per unit
units
unitsat Rs. 1.15 per unit
unitsat Rs. 1.25 per unit
units
units
unitsat Rs. 1.10 per unit
units

(10)

B) You are supplied with the following information from the books of aconcern : (10)

method :

Date Particulars
January 1 Received 1000
January 10 Recelved 260
January 20 | ssued 700
February 4 Received 400
February 21 Received 300
March 16 | ssued 620
April 12 | ssued 240
May 10 Received 500
May 25 | ssued 380
Particulars Material-P

Rs.
Opening stock 28,000
Purchases 4,60,000
Closing stock 20,000

Material-Q
Rs.
40,000
6,72,000
48,000

Calculatethe material sturnover ratio of the above materials and state which of
the two materialsismorefast moving.

OR
B) Calculatetotal earningsfrom thefollowinginformation by using : (10)
a) Halsey planand
b) Rowan plan.
Given,
Standard time = 50 hours
Actua timetaken = 40 hours
Rate of wages = Rs. 2 per hour.

B/11/10/880
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S.Y. B.Com. Examination, 2010
BUSINESS STATISTICS-I
Special Paper (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
3) Use of calculator and statistical tables is allowed.

1. A) Attempt any four of thefollowing: (2 each)

a) Definethefollowingterms:
1) Sample Space
i) AnAttribute
b) Expand theterm (3x + 2y)3 using Binomial theorem.

c) A and B are independent events of sample space (3 with P(A) = 0.3 and
P(B) = 0.6. Find P(A lUB)

d) If "p,=18 "p, , find the value of n.

e) If mean and variance of binomial distribution are 8 and 4.8 respectively.

Find the value of parameters n and p.
f) Define Poisson distribution and state its mean.
B) Attempt any three of the following : (4 each)
a) DefineUniform distribution, stateits mean and variance. Giveonereal life

situation, where uniform distribution isapplicable.

P.T.O.
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b) Calculatethreeyearly moving averagefor thefollowing dataand comment

on the result.
Y ear Yt
1990 242
1991 250
1992 252
1993 249
1994 253
1995 255
1996 251
1997 257
1998 260
1999 265
2000 262

c) Caculatethe cost of living index number from the following data:

ltems Price Weight
Base Year 1990 | Current Year 2005

Food 60 A 4

Fuel 16 36 1

Clothing 28 36 3

House rent 25 30 2

Miscellaneous 20 30 1
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d) A radar system has aprobability of 0.4 of detecting a certain target during
asingle scan. Find the probability that the target will be detected

a) Atleast twicein four scans
b) At most oncein four scans

€) A fair coinistossed three times. Let X denote number of heads appear.
Find the probability distribution of X. Calculate the expected value of X.

2. A) Attempt any three of thefollowing : (4 each)
a) Definetime series. State its components with oneillustration each.

b) The failure of certain electronic device is suspected to increase linearly
with its temperature. Fit straight line trend to given data and predict the
failurerateat 70° F.

Temperature °F 55 65 75 8 9 105

Failure Rate 190 193 197 200 201 201

c) A bakerman sells 5 types of cakes. Profit due to sale of each type of cake
is respectively 5, 4, 3, 2, 1. The demands for these cakes are 10%, 10%,
20%, 30%, 30% respectively. What is the expected profit per cake ?

d) State any two practical situationswhere multiple regression can be used.

e) For thefollowing probability distribution of X.
X 0 1 2 3 4

PX=x) k 3k 5k 2K Kk
1) Find the value of k
i) Find P(X>2).
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B) Attempt any two of the following : (4 each)
a) Define Index Number and state its uses.

b) In an examination 50% passed in mathematics, 60% passed in Statistics
while 30% failed in both the subjects. Using relation between class

frequenciesin attributes, find the percentage of students:
1) Passed in both the subjects
I1) Passed in exactly one of the two subjects
c) P(A) = 0.8, P(A UB)=0.9 and P(A nB)=0.3. Find
) P(B%)
i) P(A NB°)
i) P(A° A B)
3. Attempt any three of thefollowing : (5 each)

a) Find Fisher’sldeal Index Number for given data:

Base Year Current Year
Commodity Price | Quantity Price | Quantity
A 6 50 10 60
B 2 100 2 120
C 4 60 6 60

b) In abasket there are five mangoes and four oranges. If any three fruits are to

be selected from these, find the probability that atleast one mango is selected.
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c) From the data given below

r,= 0.7,r..=0.6 and My = 0.5, find

13
) Partial correlation coefficientr,, 5

if) Multiplecorrelation coefficient R; 54

d) From the following data of Town A and Town B, which would you consider
to be more healthy ? (Assume town A population as standard)

Town A Town B
Age Population | Deaths | Population | Deaths
0-15 10,000 200 15,000 370
15-50 18,000 500 20,000 600
50 and above 2,000 50 5,000 100

€) A morbidity survey in certainlocality reveal ed that, out of 240 persons exposed
to small-pox 112 were attacked. Out of 240 persons 152 had been vaccinated
and of these only 48 were attacked. Calculate the coefficient of association
and between vaccination and attack of small pox. Interprete the value of Q.

4. Attempt any three of thefollowing : (5 each)

a) State the situations under which base shifting is essential. Reconstruct the
following Index No. series by using 1996 as base.

Year : 92 93 o4 95 9% 97 98

CPI 193 219 240 258 300 313 342
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b) Thefollowing datagivethe number of womenin child bearing agesand yearly

d)

€)

birthsby quinquennial age groupsfor acity. Calculate general fertility rateand

total fertility rate.

Agegroup 15-20 20-25 25-30 30-35 35-40 40-45 45-50

Female 8 10 12 6 3 5 4
population

in’000

Number of 56 100 4 36 15 05 04
Births

In a company on an average three workers are absent everyday. Assuming

Poisson distribution find the probability that on a particular day
1) No worker is absent
2) At most 2 workers are absent

3) At least 2 workers are absent.

What do you mean by Vital statistics ? State uses of it.

3 .
i) X isaPoisson variate such that P(X=2)= 2 P(X=1). Find mean and

variance of X.

1) State the additive property of Poisson distribution.
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(10 each)

a8 Y, Y,and Y, arethe heightsin cm of son, mother and father respectively.

Based on 100 observations the following information was obtai ned

r,=0.60,r

=0.50 and r,, = 0.50

Obtain the equation of least squares regression planeof Y, onY,and Y ..

Also estimate the height of son when height of mother is 164 cm and height of
father is172 cm.

b) i) Splicethe two seriestogether so asto give continuous series with base year

1990.

Year Series A Series B
1990 154 -
1991 180 -
1992 210 -
1993 250 100
1994 - 130
1995 - 150
1996 - 180
1997 - 200

i1) A random variable X has probability mass function

P(X = X)= )1‘—4 : x=1,2,3. Find E (X) and var (X).

2

B/11/10/350
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S. Y. B.Com. Examination, 2010
BUSINESSLAWSAND PRACTICES
Paper —|
(Old) (2004 Pattern) (Special Paper)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer the following in 20 words each (any ten). 20
1) Define Complaint under Consumer Protection Act, 1986.
2) What isTrade Mark ?
3) What isliterary work under Copyright Law ?
4) Define‘Double Insurance’.
5) What is Stock Exchange ?
6) Statethe Jurisdiction of District forum.
7) Inwhich year FEMA ispassed ?
8) Define‘Agreement’ under The Competition Act, 2002.
9) Define*Arbitrator’.
10) What ismeant by ‘ Arbitral Tribunal’ ?
11) State the meaning of Service under Trade Mark Law.
12) What isrelevant market ?

13) What is meant by ‘False Trade Description’ ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) What are the advantages of listing on Stock Exchange ?
2) What isInsurable Interest ?
3) Statethe features of FEMA.
4) State the composition of National Commision.
3. Answer the following questions in 150 words each (any two) : 20
1) What are the different types of Marine Insurance Policies ?
2) Write anote on advertisement of application under Trade Mark Law.
3) State the parties who can refer the disputes to Arbitration.
4) Write a note on * Authorised Person’.
4. Answer the following questions in 300 words each (any two) : 30

1) Givedetailsregarding National Commission and discuss the composition of

State Commission.
2) What isthe procedure for registration of Copyright ?
3) Describe the powers and functions of SEBI.

4) Explainindetail the duties, powers and functions of Commission under.
The Competition Act, 2002.
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SY.B.COM. Examination, 2010
ADVERTISING, SALESPROMOTION AND SALESMANAGEMENT —I11
(Vocational Paper)
(Advertising —11)
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 60

N.B. : 1) All guestions are compulsory.
2) Each question carries equal marks.

1. Explain the concept of ‘ Advertising media’. Narrate the types of media.
OR

What do you mean by ‘ Advertising media ? Describethefactorsto be considered
for the selection of media.

2. Narratethe problems of Rural Marketing.
OR

What mediawould you prefer for advertising the following products/services ?
Justify your answer :

a) Computers
b) lce-creams
c) Refrigerator.

3. What do you mean by Media Planning and Ad. agency ? Narrate the factors
influencing choice of Ad.agency.

OR
Describethe Regulationsframed for Advertising in India.

4. Write short notes (any three) :
1) Pre-testing Methods
2) Difficultiesfaced in evaluatingAdvertising effectiveness
3) Mediascheduling
4) FalseclamsinAdvertising
5) Mediascenein India

B/11/20/300



RO [3869] — 620

S.Y.B.Com. Examination, 2010
PRINCIPLES AND PRACTICE OF INSURANCE-111
Fireand Marine Insurance
(Vocational Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 60

N.B. : 1) All questions are compulsory.
2) All gquestions carry equal marks.

1. Firelnsuranceisacontract of Indemnity. Discuss. 15
OR

Define insurable interest. Explain with examples how insurable interest arises
under fireinsurance policy.

2. State the documents required for the settlement of for the settlement of marine
insurancetransit claim. 15

OR

Define and distinguish between contribution and doubl e insurance.

3. What do you understand by the term actual and constructive loss. Distinguish
between actual and constructive loss. 15

OR
Explain with example the concept of protata condition under Fire Policy.

4. Write short notes on (any three) : 15
1) Generd average
2) Reinsurance
3) Subrogation
4) Ex gratiapayment
5) Vaued and unvalued policies
6) Different typesof freight insurance.

B/11/10/100



LRI ER ] [3869] — 626

SY.B.Com. Examination, 2010
ADVERTISING, SALESPROMOTION AND SALESMANAGEMENT -1V
(Vocational Paper)
(Personal Selling and Salesmanship)
(2004 Pattern) (Old)
Time: 3Hours Marks: 60

N.B.: 1) All questions are compulsory.
2) All question carry equal marks.

1. What do you mean by personal selling ? Describe the importance of personal
sling.

OR

Explainin detail the various types of customers.

2. Which qualities should a salesperson possess to become successful ?
OR

Describe the reports and documents to be prepared by salesperson.

3. Explain the process of salesin detail.
OR

What do you mean by buying motives ? Explain with appropriate examples.

4. Write short notes (any three)
1) AIDA technique.
2) Selling ascareer
3) Wholesaler salesmen
4) Methods of approach
5) Physical qualities of asalesman.

B/11/10/185
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SY. B.Com. Examination, 2010
PRINCIPLES& PRACTICE OF INSURANCE -1V
(Vocational Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 60

N.B.: 1) All questions are compulsory.
2) All questions carry equal marks.

1. Define ‘Probability’. How doesit applicable to aspect, of ‘Mortality’ ?
Give 3 examples of Probability. 15

OR
What do you understand by mutually exclusive and independent events ?
2. What issignificance of ‘Mortality Tables' ? Take review of bases of mortality

stating advantages and disadvantages of each source. 15
OR

What is‘Premium’ ? Which factors contribute to decide quantum of Premium ?

3. Enlist variousbenefitsavailable under aLife Insurance Policy. 15
OR
What is sum total event happening and not happening ? How does it affect the
probability of death and probability of survival ?
4. Write short notes on (any 3) : 15
1) With profits and without profits policy.
2) With accident benefit and without accident benefit policy.
3) Trend year after year in respect of survival and in respect of death.
4) Census method for construction of mortality table.
5) Mutually exclusive and independent events.
6) Compound interest function.

B/11/10/100
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SY. B.Com. Examination, 2010
TAX PROCEDURE AND PRACTICES-IV
(Old) (2004 Pattern)
Vocational Paper
Wealth Tax, P.T. and Service Tax

Time: 2 Hours Max. Marks: 60

Instructions : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any seven) : 14

1) What isthe basic exemption and rate of wealth tax ?

2) What isthe minimum and maximum rate of P.T. for enrolled person ?
3) State the present rate of Service Tax ?

4) Who is exempted from PT. ?

5) Who is not chargeable for penalty and fine under PT. ?

6) Whose wealth is not chargeable u/s 45 of Wealth Tax Act 1957 ?

7) Which services are exempted from Service Tax ?

8) State the main objects of PT.

9) Statethetitle, extent and application of PT. Act, 1975 ?

10) What do you mean by “debt owed” ?

P.T.O.
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2. Answer in 50 words each (any two) : 8
a) How theregistration certificate is obtained under PT. Act and Rule 1975 ?
b) State the various deemed assets under Wealth Tax Act, 1957 ?
c) What isservicetax ? What are the taxable services ?

d) Write note on Incidence of tax U/S (5.6) of Wealth Tax Act, 1957.

3. Answer in 150 words each (any three) : 18
1) Explain the assets taxable under W.T. Act, 1957.
2) Which assets are exempted U/S 5 of W.T. Act ?
3) How thecertificate of registration and enrollment iscancelled under PT.Act ?
4) Statethe procedure of filing E-mail return under servicetax.

5) What isthe role of Chartered Accountant under Service Tax Act, 1994 ?

4. Answer in 500 words (any one) : 20

1) State the total frame work and an overview of Service Tax Act, and Rule,
1994.

2) State the administrative authorities under Wealth Tax Act and Rule and state
their powers and duties.

B/11/10/190
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S.Y. B.Com. Examination, 2010
BUSINESSCOMMUNICATION
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.

1. Answer in 20 words each (any ten) : 20
1) What iscommunication ?
2) What issales-letter ?
3) What do you mean by ‘You Attitude’ ?
4) What is status Enquiry ?
5) What is Oral-Communication ?
6) ExplaintheAccuracy of |etter.
7) What do you mean by Report ?
8) What isBio-data?
9) What is Agency-correspondence ?
10) What is quorum of the meeting ?
11) What do you mean by vertical filing ?
12) What do you mean by speech ?

13) What isnotice of the meeting ?

P.T.O.
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2. Answer in 50 words each (any two) : 10
1) Explain the process of communication.
2) Statethe advantages of written-communication.
3) State the importance of speech-preparation.
4) State the types of report.
3. Answer in 150 words each (any two) : 20

1) Draft anenquiry letter to Diamond Watch Company Ltd., Bangal ore on behal f
of Mehata Watch House, Raviwar Peth, Satara for purchasing watches.

2) Manoj Trading Company, Sangali has not received the balance of Rs. 60,000
from Anand Traders, Pune in spite of three reminder letters. Draft a letter
threatening alegal action.

3) Writealetter on behalf of Anand Dairy, Solapur to Krishna Co-operative Milk
Sangh Ltd., Kolhapur to obtain Agency to their products.

4) DrafttheMinutesof Annual General Meeting of Bajg ElectronicsLtd. Nagpur.

4. Answer in 300 words each (any two) : 30
1) Explainindetail thelayout of Business|etter.
2) ExplainthedetailsBarriersto effective communication.

3) Write a detailed note on various electronic instruments used in modern
communication.

4) Explainthefeaturesof anldea Report and explainin detail contentsinAgency
agreement.

B/11/10/1,125
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S.Y .B.Com. Examination, 2010
(2004 Pattern) (Old)
BUSINESS MANAGEMENT

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer the following questions in twenty words each (any ten) : 20
1) Definetheterm ‘Business'.
2) What do you mean by ‘planning’ ?
3) What is ‘forecasting’ ?
4) Definetheterm ‘decision-making’.
5) Definetheterm ‘organisation’.
6) What do you mean by ‘ Departmentation’ ?
7) Definetheterm ‘ Direction’.
8) What do you mean by ‘Motivation’ ?
9) Definetheterm ‘ Leadership’.
10) Definetheterm ‘ Communication’.
11) What is ‘ Coordination’ ?
12) Define the term ‘ Control’.

13) What do you mean by ‘ Delegation of Authority’ ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) :
1) Explainthevarious managerial skills.
2) What are the advantages of planning ?
3) Describe the importance of motivation.
4) What are the characteristics of ‘control’ ?

3. Answer in 150 words each (any two) :
1) Explain the contribution of Henri Fayol, to management.
2) What are the advantages of committee type of organisation ?
3) Describe A. H. Maslow’s theory of motivation.
4) What are the barriersto communication ?

4. Answer in 300 words each (any two) :
1) Describe various functions of management.
2) Explain theimportance and limitations of planning.
3) What are the qualities for |eadership and techniques of |eadership ?

4) Explain the conceptsin detalil :
a) Total Quality Management
b) Business Ethics.

TRTE BT
EAT: 1) @ g9 ST 37784,
2) T FIHSIT 37% GOf 07 T,
Y. GTefiel T8It Teeht R0 ITeaTd 3R foTeT (SFIvde! <8r)

%) SHIHT I T3l AReAT fota.

R) FHH =S w7

3) EigAE RS & E ¢

¥) “Taota wfsn’ o wx=h =amen forer.

W) “HeEreA AT Hy ST fora.

10

20

30

Q0



AR RO A A 3 [3869] — 604

&) ‘Taumfieor eust #m 7

) TR AT w3 AT fore.
¢) ‘AR TS 7

R) g = T3t =T fore.
%0) ‘TSR AT w3 sAREAT fore,
22) TH=E TEUN 7

$3) ‘Torror’ = wyh s fota.
23) ‘AR - 9uE e Y 7

R. Tt Tt Teeht wo STeaTd 3R fTeT (hivrdet ) %0

%) Tafay srawenuehia e Tse &=

R) FrRsm %rg wivrd o forer.
3) “IfirRoN e’ i .
¥) Frmomt Afsmes S o foter.

3. TTelle JTet Tt U o I1eaTd 3T foTal. (HIorde ?) R0
%) T HATA AT HTLATILIE A ANTEH T Rl
?) Tftdi-Tered a1 g5 YR BRIE hivd o foral.
3) U T, Tl gt SARTHRTgTaT 99 .
¥) ToYTEeHTdIe 3TSYes hIvTd o forer.

¥. @aﬁawﬁuﬁzﬁaoowaﬂi%ﬂ(@vﬁﬁ?): 30
%) ST fafay swrte aui .
R) FeFT e 3 Tailer Tose .
3) T U F AqeaTel a3 vt o foter ?
¥) TTeiiel HeheUHT Aol TI5 .
31 ) TERTTcH Gl SAaEATI
)R .

B/11/10/1,680



O OO A [3869] — 605

S.Y. B.Com. Examination, 2010
CORPORATE LAW
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B.: 1) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer the following in 20 words each (any ten) : 20
1) Define ‘Public Company’.
2) What isthe meaning of ‘ Government Company’ ?
3) What is statement in lieu of Prospectus ?
4) Whatis*lrregular Allotment of Shares' ?
5) What is‘Mis-statement in prospectus’ ?
6) State the meaning of ‘Buy-Back of Shares'.
7) What do you mean by ‘Issue of Shares at Discount’ ?

8) State the minimum and maximum number of directorsin public and private
company.

9) Statethemeaning of ‘Mis-management’.
10) State the meaning of ‘ Declaration of Solvency’.
11) State the meaning of the term ‘ Company Meeting'.
12) What ismembers‘Voluntary windingup’ ?

13) What isthe meaning of ‘ Debenture’ ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) :
1) Statethe provisionsfor valid forfeiture of shares.
2) When does the floating charge become afixed charge ?
3) State therights of Proxy.
4) State the contents of the Statutory Report.

3. Answer the following questions in 150 words each (any two) :
1) Describe the procedure for issue of Share Warrant.
2) Distinguish between Memorandum of Association and Articlesof Association.
3) What arethe qualifications and disqualifications of a Director ?
4) What are the duties of the official liquidator of acompany ?

4. Answer the following questions in 300 words each (any two) :
1) Definetheterm‘Company’. Explainin detail the features of acompany.

2) What is the meaning of Allotment of Shares ? State the legal provisions of
Allotment of Shares. What are the effects of irregular allotment ?

3) Define a Director. Explain the provisions regarding removal of Directors of
Company.

4) What iswinding up of acompany ? Explain the various modes of winding up
of company.
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S.Y. B.Com. Examination, 2010
CO-OPERATION AND RURAL DEVELOPMENT —I
(Special Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
i) Figuresto the right indicate full marks.
1. Answer the following questions in 20 words each (any ten) : 20
1) What was the object of Co-operative SocietiesAct, 1912 ?
2) What is the object of Amendment of By-laws of co-operatives ?
3) What isthe am of employee's co-operatives ?
4) State the provisionsin Co-operative SocietiesAct, 1904.
5) What do you mean by accountability of District Registrar of Co-operatives ?
6) State the two sources of Rural Development.
7) State two merits of multi-stage co-operatives.
8) Suggest two activitiesfor rural development.
9) Statetheimportance of co-operative sugar factoriesin co-operative movement.
10) State two draw-backs of sugar co-operatives in Maharashtra.
11) State two problems of group approach of rural development.
12) Whatisunlimitedliability ?
13) What isagenda ?
2. Answer the following questions in 50 words each (any two) : 10
1) State the main provisions of Co-operative SocietiesAct, 1904.

2) Explain the scope of rural development.

3) Explaintheprovisionsof Maharashtra Co-operativeAct, 1960 regardingAudit
of co-operatives.

4) Explain the features of mass approach in rural development.
P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Review in brief the stages of Co-operativeLegislationsin India.
2) Explain the duties of Co-operative Societies.
3) Explain the nature of group approach in rural development.
4) Review inbrief thework of MahatmaGandhiji regarding rural development.

4. Answer the following questions in 300 words each (any two) : 30

1) Explain the progress and problems of sugar and dairy co-operatives in
Maharashtra.

2) Explain the power and responsibilities of District Registrar of co-operative
Ssociety.

3) Review in brief the thought and work of Dr. Ambedkar in social reforms.

4) Explainthe salient features of thought and work of Mahatma Jyotirao Phule,
assess itsimpact on rural development.
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S.Y .B.Com. Examination, 2010
BANKING AND FINANCE -1

(Special Paper)
(Indian Banking System)
(2004 Pattern) (Old)

Time: 3 Hours Max. Marks : 80

N.B.: ) All questions are compulsory.
[1) Figures to the right indicate full marks.
1. Answer the following questions in 20 words each (any ten) : 20

1) Define non-scheduled banks.

2) What is meant by private sector banks ?

3) Define foreign banks.

4) What is meant by social control over banks ?

5) What is meant by Regional Rural Banks ?

6) What is Cash Reserve Ratio (C.R.R) ?

7) What is credit control ?

8) Define Bank Rate.

9) Define co-operative banks.
10) What is meant by development banks ?
11) What is selective credit control ?
12) Define central bank.
13) What is meant by cleaning house facility ?

2. Answer the following questions in 50 words each (any two) : 10
1) State the role of banking system in Indian Economy.
2) Explain the objectives of Regional Rura Banks.
3) State the functions of District Central Co-operative Banks.
4) State the difference between development banks and commercial banks.

P.T.O.
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3. Answer the following questions in 150 words each (any two) : 20
1) Discuss the progress of banks after nationalisation in India
2) State and explain the functions and performance of foreign banks in India
3) Explain the methods of quantitative credit control.
4) Explain the structure and role of development banks.

4. Answer the following questions in 300 words each (any two) : 30
1) State and explain the organisation and role of state bank of India.
2) Explain the recommendations of Narasimham committee (1) 1991.
3) Discuss the functions of Reserve Bank of India
4) State and explain the functions and problems of state co-operative banks.
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S.Y. B.Com. Examination, 2010
BUSINESS ENTREPRENEURSHIP—-I
(Special Paper) (2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : 1) All questions are compulsory.
2) Figuresto the right indicate full marks.
1. Answer in 20 words each (any ten) : 20

1) What isMicro-Finance ?

2) Whatis'Privatisation’ ?

3) Findingsof Kakinada Experiments.

4) Imitating Entrepreneur.

5) Achievement Motive.

6) Innovation.

7) Entrepreneur.

8) Callective Entrepreneurship.

9) Unemployment.
10) Four types of services.

11) Social Responsibility.
12) Four challengesof globalisation.

13) Business process outsourcing.

2. Answer in 50 words each (any two) : 10
1) Opportunitiesof Agri-business.
2) Features of service business.
3) Distinguish between * Entrepreneur and Manager’ .
4) Importance of supply chain.

P.T.O.
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3. Answer in 150 words each (any two) : 20
1) ‘Entrepreneurs are born and not made”. Comment.
2) Explain four sources of Innovation.
3) Discussthe barriersto the Entrepreneurship Development.
4) Narrate varioustechniquesof creativity development.

4. Answer in 300 words each (any two) : 30
1) DiscussEntrepreneurial qualitiesof late Shri. Padamshri Vithalrao Vikke Patil .
2) Explainindetail thefunctionsof Entrepreneur.

3) Discussthesocial responsibilitiesof businesstowards shareholders, employees
and consumers.

4) Explainindetail typesof serviceindustry.
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S.Y. B.Com. Examination, 2010
MARKETING MANAGEMENT

(Special Paper)
(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
1. Answer the following questions in 20 words each (any ten) : 20

1) What isMicro Marketing ?

2) Define Marketing Planning.

3) DefineMIS.

4) Define‘ Marketing Mix’ .

5)What is‘SadesAnalysis' ?

6) What is‘ Intangibility of Services' ?

7) Explain theterm ‘ Close Questionnaire’.

8) Explain Telephone Survey.

9) What is ‘ Customer Oriented Approach of Marketing’ ?
10) Explain‘Product Elimination’.
11) Definetheterm ‘ Coordination’.
12) Explain the concept of Rural Marketing.

13) What is‘ Decentralisation of Authority’ ?

P.T.O.
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2. Answer the following questions in 50 words each (any two) : 10
1) Write a short note on ‘ Customer Oriented Approach’.
2) Explain the New Product Development Process in detail.
3) Writeinbrief Managerial Skills.
4) Explain theimportance of Branding.

3. Answer the following questions in 150 words each (any two) : 20
1) Explain the advantagesand limitationsof Marketing.
2) Describe the styles of leadership.
3) Explain the process of Marketing Research.
4) Elaborate upon the test marketing procedure.

4. Answer the following questions in 300 words each (any two): 30

1) Writeadetail note on the controllable and uncontrollabl e factors of marketing
environment.

2) Explain the stepsin Marketing Planning.
3) Explainthe qualities, duties and powersof Marketing Manager.

4) Bring out the importance and explain the essentials of a sound marketing
organisation.
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S.Y .B.Com. Examination, 2010
DEFENCE BUDGETING, FINANCE AND MANAGEMENT —1|

(Special Paper)
(2004 Pattern) (Old)
Defence M anagement
Time: 3Hours Max. Marks: 80
N.B. : i) All questions are compulsory.
i) Figures to the indicate full marks.
1. Answer in 20 words each (any ten) : (2x10=20)
1) What do you mean by Security Management ?
2) State the meaning of strategic control.
3) Define Economic Forecasting.
4) What do you mean by Resources for Defence ?
5) State the meaning of Team building.
6) Write any two limitationsto Defence M anagement.
7) What do you mean by Motivation ?
8) Statethe meaning of ‘ Material Life Cycle'.
9) Write the meaning of ‘ Integrated Defence Logistics .
10) Write any two principles of Defence Management.
11) What do you mean by career management in the Armed Forces ?
12) What do you mean by ‘ Operational Research’ ?
13) Write any two problems of ‘ Technological Forecasting’.

P.T.O.
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2. Answer in 50 words each (any two) : (2x5=10)
1) Explain characteristics of Team building.
2) Writein short on limitations of Defence management.
3) Write ashort note on ‘ materia lifecycle'.

4) Writein short on limitations of L ogistics Planning.

3. Answer in 150 words each (any two) : (2x10=20)
1) Describe process of operational Logisticsin the armed forces.
2) Writeanote on National Security Management in India
3) Explain role of private sector in India's defence production.

4) Discuss decision making process in the Armed Forcesin India

4. Answer in 300 words each (any two) : (2x15=30)
1) Explain principles of management and its applicationsto Defence management.
2) Discuss problems of Technological Forecasting.
3) Explain career management in the Indian Armed Forces.

4) Discuss relationship between War and Economy.
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S.Y. B.Com. Examination, 2010
COMPUTER APPLICATION—I (Special Paper)
(RDBM S, VBand VB.NET)

(2004 Pattern) (Old)

Time: 3Hours Max. Marks: 80

N.B. : i) All questions are compulsory.
i) Figures to the right indicate full marks.
iii) Neat diagrams must be drawn wherever necessary.

1. A) Consider thefollowingtable: 8
Palitician (Pno, Pname, Partyname, Partyfund)
Referring to the abovetable, write SQL statement for thefollowing (any four) :
i) Listall recordsstoredin politician table.
i) Display the politician information whose party fund is50,000.
i) List the Pname whose politician name startswith “V’.
Iv) Listthepolitician information whose partynameis‘MNS'.
V) List the Pno whose partyfund is greater than 10,000.
vi) Change the partyname of politician ‘RAM’ as‘BJP'.

B) Explain the following commands (any four) : 8
1) Skip
ii) Create
i) Column
Iv) Exit
V) Save.
2. Attempt any two of the following : 16
1) Explain different datatypesused in SQL.

i) What is database trigger ? Give the name of events on which it is executed
with explanation.

i) Explain different datamodelsin brief,

P.T.O.
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3. A) Write purpose and syntax of the following (any four) : 8
1) Inputbox ()
ii) Scroll bar
i) line
Iv) Dim
v) With ..... End with.
B) Write properties and methods of the following (any two) : 8
1) Combobox
i) Textbox
i) Label.
4. Attempt any two of the following : 16
1) Write anote on framework in VB.NET.

i) Explainfeaturesand environment of VB.
i) Write anote on steps for devel oping database application.

5. Attempt any one of thefollowing : 16
1) Definevariableswith their scope. Explain datatypesusedin VB.
i) Explaindifferent functionsused in SQL in brief.
i) &) Design a form for employee salary. Display three textboxes for reading

Basic, DA, HRA of employee, and a Gross salary Button. Write aprogram

for gross salary button, after clicking on button program should display
gross salary in a separate textbox.

b) Write a PL/SQL Block for modification in politician table, change the
partyname to ‘BJP’ to ‘NCP whose politican number is 10.
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S.Y. B.Com. Examination, 2010
(Vocational Paper)
COMPUTER APPLICATIONS-III
(2004 Pattern) (Old)

Time: 21, Hours Max. Marks: 60

N.B.: i) Attempt any five questions from Section — I.
1) Attempt any five questions from Section — | 1.
iii) Draw a neat labeled diagram wherever necessary.
iv) Figures to the right indicate full marks.

SECTION — |

1. Define DBMS. Explain the advantages of DBMS. 6

2. Explaininbrief thefollowing termswith syntax and example. 6
a) CreateTable b) Drop

3. Write a short note on PL/SQL. 6

4. Explainthefollowing functions: 6
a Count () b) Substr( )

5. Explaininbrief thefollowing : 6
a DQL b) Primary Key

6. Explainthefollowing with examples: 6

a) Order by clause b) Like operator
7. What isE-R Model ? Explainin brief key elements of E-R Model. 6

P.T.O.
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SECTION —11
1. What is Object Oriented Programming ? State any three featuresin OOP. 6
2. Explaininbrief thefollowing termswith syntax and example: 6
a) Switch b) For
3. What do you mean by two -dimentional array ? Explain with aexample. 6
4. What isastructure ? Explain its use with example. 6
5. Explainin brief thefollowing C++ tokens: 6
a) Operators b) Constants

6. What do you mean by pointer ? Explain the declaration and use of pointer with
an appropriate example. 6

7. Writea‘C’ program to accept 10 numbers using an array and print the Odd
numbers. 6
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S.Y.B Com. Examination, 2010
(Vocational Paper)
COMPUTER APPLICATIONS-1V
(Old 2004 Pattern)

Time: 2% Hours Max. Marks: 60

N.B.: 1) Attempt any five questions from Section — I.
i) Attempt any five questions from Section — 11.
i) Draw a neat-labeled diagram wherever necessary.
iv) Figures to the right indicate full marks.

SECTION — |
1. Writeanote on Menu Builder. 6
2. Explain datareportsin brief. 6
3. Explainthefollowing: 6
a) Property Window
b) Project Explorer
4. Write short note on string functionsin VB. 6
5. Explain briefly the following statement with suitable example and syntax. 6
do............ loop
For........... next
6. Differentiate input box and message box. 6

P.T.O.
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1.

o a0~ WD PE

What will be the output of thefollowing ?
a) Private Sub Command _click ()
Diml, jAsInteger

Dim num (1to 2, 1 to 2) AsInteger
Fori=1to2

Forj=1to?2

Num (I, j) = InputBox (“Enter Value”)
Next |

Nexti

Fori=1to?2

Forj=1to2

Print num (1, J)

Nextj

Next i

End Sub

SECTION — 11

Write short note on Normalization.

Explain System Development Life Cycle (SDLC).

Explain waterfall model with diagram.

What is decision tree ? Explain decision tree with suitable example.
State and explain all roles of system analyst.

Explainthefollowing :

a) Fact Gathering Technique

b) Feasbility study

Draw Context Level Data Flow Diagram for Payroll in which employee,
organization and bank are entities.

D OO O OO O O
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